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Question Numbers 1to 5 :
Read the following passage and answer the questions that follow :

Dogs and cats should never be permitted to eat chocolate, because chocolate works
like a poison on their bodies. Chocolate contains a chemical called Theobromine, which
is stmilar to caffeine. Human bodies are able to process the Theobromine without any ill-
side effects, but dogs and cats cannot.

Different types of chocolate contain different amounts of Theobromine. It would
take twenty ounces of milk chocolate to kill a twenty pound dog, but only two ounces of
baker’s chocolate or six ounces of semi-sweet chocolate. The amounts, of course, are
much smaller for a cat, whose body weight is typically less than that of a dog. Most Cats
are 1ot naturally attracted to eating chocolate, but many dogs are. Dogs, by nature, will
sample nearly anything that they see their masters eating, so pet owners must take care to

keep all chocolate products well out of reach of their dogs and cats.

Sub questions

Question Number : 1 Question Id : 14558910294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

According to the passage. why is chocolate poisonous for dogs and cats?

Options :

It contains caffeine

Chocolate is made from processed cocoa

5, Ltgets stuck in their mtestines



They cannot process Theobromine
4. &

Question Number : 2 Question Id : 14558910295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
How much milk chocolate would be poisonous to a cat?
Options:
Substantially less than twenty ounces

1.

Substantially more than twenty ounces

Approximately one pound

Half- a Hershy chocolate bar
4. %

Question Number : 3 Question Id : 14558910296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Why might a dog eat chocolate, according to the passage?
Options :

because it tastes good



dogs won'’t eat chocolate

they can smell the theobromine

dogs like to imitate their owners
4.

Question Number : 4 Question Id : 14558910297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the correct statement about the passage
Options :

Chocolate has 11l effects

Cats take twenty ounces of milk chocolate

. Cats follow the habits of their masters

Human bodies process the Chemical called Theobromine
4. &

Question Number : 5 Question Id : 14558910298 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

What does ‘sample’ mean in the passage?
Options :

model

Taste

simple

gluttonous

Is Section Default? : null

Question Number : 6 Question Id : 14558910299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct sentence :

Options :
It is raining. aren’t it

1. %

, He said that he is ruined

You must work hard for success
3. %



It is smelling goodly

Question Number : 7 Question Id : 14558910300 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the correct sentence

Options :

Considering about the quality, the price is not high

Do not preventing me work

She resembles her sister

He persisted to say this

Question Number : 8 Question Id : 14558910301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

rose is attractive flower

Options :

1. %



d1l. 4

d. all

the. an

the. a

Question Number : 9 Question Id : 14558910302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate articles :

bird in the hand is worth two in bush.

Options :

an. the

a. the
"

the. the



Question Number : 10 Question Id : 14558910303 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the appropriate preposition :

He was vexed Ram for his behaviour.

Options :

at

to

with

upon

Question Number : 11 Question Id : 14558910304 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate preposition :

Prasad is confident his success.
Options :

of

1. %



towards

5]

for

about

Question Number : 12 Question Id : 14558910305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the coirect answer :

The General the enemy’s fortress

Options :

storm

stormed
2.

have stormed

1s storm



Question Number : 13 Question Id : 14558910306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

He . he and he

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.
Options :

CoIe, sdall, CD]]Q‘HE‘I’Ed
1.

came, see, CDH(lllEl‘E‘d
2.

caie, sail, CDIIC[HE‘I’E(I
3.

came, see, conquer
4.

Question Number : 14 Question Id : 14558910307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct answer :

‘Parasite’ means

Options :

A loss of motion

exterminator

disease

one that clings
4.

Question Number : 15 Question Id : 14558910308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the correct answer :

‘placate’ means
Options:

to make sure

to annoy



to pacify
v

to refuse

Question Number : 16 Question Id : 14558910309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the appropriate synonym for

‘Forestall” means

Options :

Progress

Frights

Prevent
3. %

Disappoint

Question Number : 17 Question Id : 14558910310 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Choose the appropriate synonym for Rectify



Options :

Build

Correct
2.9

Destroy
3. %

Command

Question Number : 18 Question Id : 14558910311 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Choose the appropriate antonym for Anomalous
Options :
normal

1. %

connected
2. ®

VICIOUS

capacious



Question Number : 19 Question Id : 14558910312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Choose the appropriate antonym for preposterous

Options :

apologetic

credible

conceited

complaisant

Question Number : 20 Question Id : 14558910313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the following into a complex sentence :

We went there and found that she had left

Options:

- She had left and we went there

She and we could not find each other



When we went there. we found that she had left
3.

She went there to find we were not there.

Question Number : 21 Question Id : 14558910314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the following into a simple sentence :

The cow is good and gives milk.

Options :

The good cow gives milk
1.+

, This is a good cow, which gives milk

To milk the cow is good

The good cow gives no milk

Question Number : 22 Question Id : 14558910315 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from active to passive voice :

A storm ravaged the village

Options :

The village ravaged the storm

The village was ravaged by a storm
2. &

The village ravage by a storm

A storm ravage the village
4. %

Question Number : 23 Question Id : 14558910316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Change the sentence from passive to active voice

“their wonder was restrained by a strange happening”
Options :

a strange happening restrained their wonder

1.¢

Their wonder restrained a strange happening



Happening strange their wonder restrained

Their wonder made a strange happening

Question Number : 24 Question Id : 14558910317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Change the sentence from direct to indirect speech.

He said, “T will be writing to him soon.”

Options :

He said that he would be writing to him soon
1.9

He said that he would be writes to him soon

He told that he will be writing to him soon

. He said that I would be writing to him soon

Question Number : 25 Question Id : 14558910318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Change the sentence from indirect to direct speech.
She said that they would have a party that night.

Options :

She says. “we will have a party now”.

v She said, “we will have a party to night.”

She ordered, “we must organize a party tomorrow” .

3. %

. She said, “we could have a party yester night.”
General Knowledge

SectionId: 145589345

Section Number : 2

Mandatory or Optional : Mandatory

Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes

Maximum Instruction Time: 0

Is Section Default?: null

Question Number : 26 Question Id : 14558910319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The leadership in family planning — EXCELL awards 2022 in the country

category was received by :

.-’-" o *
Wil © W i &k o L EEN

Options :
China
e
O
1. %
India
O] =Y
2. ¢
Singapore
Jf‘_’lé-'
3. % '
Thailand
A SF
4, %

Question Number : 27 Question Id : 14558910320 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Indian Film personality of the year 2022 award at the 53* International film

festival of India (IFFI) was presented to :

QJ}"&JEH{!KM%'L'Eumﬂ()22\_,"p£pu; (IFFD 44 317 U 153 L sk
Options :

Rajinikanth

1. %

Late PuneethRajkumar

i
o o
S LD e E[‘.«‘?,f'

2. %
KonidelaChiranjeevi
# - 5 Kl
ul;{..-'z.l_.ifl_:.f
3. ¢
Amir Khan
e
4, %

Question Number : 28 Question Id : 14558910321 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



28.In India, eleven states account for 90 percent of the total number of operational

mines. Which of the following states are part of them?

B 5 <) P S it Ll s F UL/ FEI0% e

A, Andhra Pradesh

&l e
,___-‘;){J_fﬁj
B. Bihar
C. Chhatisgarh
a:fu'::i
. Gujarat
=
el
E.  Uttarakhand

S

Select the correct answer :

-
Options :
A.C & D only

DusC A S
1.4

B & E only

EnB 7

2. #

3. %



C.D & E only

E.oD {C A S/

A.B & Conly

(_.1 Il B *'A _-E‘,r"";

4. %

Question Number : 29 Question Id : 14558910322 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following is incorrect with regard to the National Green
Hydrogen Mission?

| ( - P' | d -‘.':" I} b 4 f’ .":'f'
b hbe)r e alf e P U

Options :

It was approved by the Union Cabinet in April 2023.

A 'l...;»* E’u-2{)23u ﬂ __J-Kn # f,-:_,

[t makes India a leading producer of green hydrogen in the world.

p‘ ~ l,---’
_Etb_lun"f_A'Ul:;. P a9l o 2l ad ke



[t reduces dependence on imported fossil fuels.

e - -
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It attracts investment opportunities for the industry.
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Question Number : 30 Question Id : 14558910323 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
30."Yaanam’ is a science documentary of about 44 minutes. Which of the following
are comrect about 1t?

e L. i ot e "o
el -"f'e:w'ff——-}é’:w"d:-{fw Wt Al LT Al ’r‘di.r‘-‘—:"'"*“ A
A.  Yaanam is a first science non-feature film in Sanskrit,

v g ' o pre
_..";_i"hrbfﬁ-_,;fl-;v%hf:&ff “:"i.'L"

B. It recounts the story of India’s Chandrayan.

e i :
— UROW U e e Ry

C. It was screened at the 33" edition of the International Film Festival of

[ndia (IFFI)

b i o
=L :g:f:;:ﬂ}.,l:;"’l'fvw ,'-L_,.‘_':i.;:.'

Select the correct answer :

i

S g elr e



Options :

A & B only

B -'.3' A I—-;_,'r.ﬁ

A & C only

C ool A ¥

C only

NG

B & C only

'C FEL B -._jj"‘;r

Question Number : 31 Question Id : 14558910324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total length of national highways (NH) in India , as on 30" November, 2022,
approximately, was : (in lakh kms)

.

R Z g ary il sy A 1
(LAFENE L PSS S dd Lossiec 2022 2330

Options :



Question Number : 32 Question Id : 14558910325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

March 2023, who among the following was elected as the Chief Minister of
Tripura?
wu w il e Si22023%.4
Options :
ManikSaha

WLl
1. %

ManikSarkar

J Kz“ ...FLTL



. Biplab Kumar Deb

-~

el

Dasarath Deb

3B

Question Number : 33 Question Id : 14558910326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In World women’s Boxing Championship 2023 who won the gold medal in 50kg
category.

- Wl o g wr har B s g .
Ol qﬁu:jyﬂ:' L il ¥ 50 s f‘;ﬁ"&@ﬁm’;ﬂoﬂ

Options:

LovlinaBorgohain

ﬁ L
1 |"r:*"I s50s s
. B

NikhatZareen



Saweety Boora

r':"’
IJJ"IU“_!"H

NituGhangas

=
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Question Number : 34 Question Id : 14558910327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is wrongly paired regarding Nobel Prizes 2022,

.

P-ELICL g, Pes el s b3
Ce Gl e L1p Z2022:M601) 5
Options :

Physics — John . F. Clauser

e - =¥
1. %
Chemistry — Alain Aspect
2T IV
2. 4



Peace — Ales Bialiatski

c |
SELS - S
Economics — Philip. H. Dybvig
= Sy I T
SIS EIE L e
4. %

Question Number : 35 Question Id : 14558910328 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Choose the incorrect pair regarding the Union Budget — 2023 from the following.

& |4

NG | . '-' f i-.-"
LW ’EI;}?.'MLUT:UE b NP L2023 1785087 7
Options :

Gobardhan - Waste to wealth plants

i#® H {-’ ol [ -’P’;
W&y ssd Lmday — T asd
1. % )
AmritDharohar — Optimal use of wetlands
Vg
eIy FEEUSE IS - s P
2. %

3.¥



Unity mall — Centre for national integration

Question Number : 36 Question Id : 14558910329 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

‘Whose writings influenced Karl Marx’s dialectical materialism?

-
1

T TR f £l ' B
-y ;‘V;:JHLF’:?"‘I;L::'L;_‘:;_,” JLVFJEIFJ_-VIE{J_/;L:.'_,:H

Options :
Ricardo
y "JE:’J
1. % i
Hegel
¢,



Angels

urﬁ'j
3. %
[enin
-
o
4. % ~

Question Number : 37 Question Id : 14558910330 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

[dentify the writer who won the SahityaAkademi Award for Telugu Novel
‘ManodharmaParagam’ in 2022.

e | | pois i el | .-"ﬁ..’?"«'."ﬁ £,
s S JRO220 L SAISHMAST o LONH L 14l P

Options :
Vadde Naveen

o A3
1.%

RepakaSubhadra

-'J;ui‘,{,‘!""é;,x
2. % :

3.¢



MadhuranthakamNarendra

U,ﬂ:jl’fh!"pn

Chandra Latha

Vi

4, %

Question Number : 38 Question Id : 14558910331 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which city the COP-27 conference was held

Sl PECOP2T U AU

Options :

Kuwait
oy
Sharm-el-Sheikh

2. %

Doha

b2



Beirut

[:
i

Question Number : 39 Question Id : 14558910332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which Harappan City recognized as UNESCO world Heritage site in 2021.
# & - - " s f& 5 of
Yo UL UNESCOU20215 7.2y
Options:
Kalibangan
7
Tt
Dholavira
lzalls”

2. %

MohenjoDaro

EVIRE AN
3. =%



Lothal

LY

Question Number : 40 Question Id : 14558910333 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Every year world Press Freedom Day is celebrated on

- e s # T e |
- Pl b T Sl a1

Options :

3", May
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Teaching Aptitude

SectionId: 145589346
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 41 Question Id : 14558910334 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What is the appropriate purpose of learning?

S

Options :
Modifications of behaviour

L . -

L | sl '1 /
o, A e SIS
-

1. %



Individual adjustment

) ]
— .,‘3./'1'-:'}'/;’”'
2. #

Social and Political awareness

# o =
Ul 208

3. #

Development of life skills

- - o
i:‘ _,.h [4f le"‘ ;'j:.
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C

Question Number : 42 Question Id : 14558910335 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
How can a teacher establish rapport with students?
R - E:-—H, oo -
S U f b (TR F L ol L

Options :

Becoming a figure of authority



Impressing students with knowledge and skills

_.; f'w‘:‘ ,lb_._,;w #~

Playing the role of a guide

.J_,__- !.-* !.-d"(“1 ..
A L W EVE -1V
3. ¢

Becoming a friend to the student

PSR 7 b
4. %

Question Number : 43 Question Id : 14558910336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What are the essentials for the improvement of any skill?

-
,-*| F,,'

A-..—-UJ‘HV—-L—L;/JUI-#JWU ()

o

3
Options :

Correctness & Speed

Ty,

-‘1‘

I . il
A2y 4

2. &



Accuracy & speed

;LJ’;;:F:.-E;'LEJ‘

Understanding & correctness

=
L] ]
[

il
1o

Easy methods & speed
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Question Number : 44 Question Id : 14558910337 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
What can we promote to the learner through assignments?

|f- 4 __,.lr.' :"} b:" . .
S ey i A2l slay

Options :

Proper utilization of time

o
JEIG E ot



Continuity of classwork

hiy
VLFL Kl—---I qu;rg

Innovative ideas

= WS F17

3. %
Thought provoking
ool e
$AE
4.¢ =7

Question Number : 45 Question Id : 14558910338 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

How education is useful in application towards daily life?

=

o -
= L =
Wl s £l i

Pl bt |
Ve B AU T e
Options :

For logical thinking

3



Social values

e >
ABIEk

Problem solving

AN S
3.¢¥

Moral values

e S
AR

Question Number : 46 Question Id : 14558910339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is suggestible step for the improvement of a slow learner?

Options:
Remedial teaching
e s kS kel

1.4

Re teaching

L""I“
2. %

-
P
-



Group discussion

.F"

i o
e wia o
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Imposition
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Question Number : 47 Question Id : 14558910340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the output that we expect from the students through high percentage of

attendance

k"

CBES LI et [ fa Sz fos i

(,--

Options:

Mid day meals

Discipline

J::-"sl/gf

L
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Minimum levels of learning

JE LAY
3. %

Honesty

L',;f,"' Il
4. %

Question Number : 48 Question Id : 14558910341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which is the strategy goes perfect for the attainment of effective learning?

4 - '/ | ~ | i | w4
Puffv;h’ﬁ’;dfé-é-u'?yé-f I/
Options :

Online oriented education

r‘_"‘b l:h x.."’||.
uw '-"h-"

Learner centered education



Teacher centered education

i":“u d,:’li,."uf.ﬂ_‘&

Play way education

UEZ:?’M{'J
4. %

Question Number : 49 Question Id : 14558910342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Expand UPE as per article No-45 of Indian constitution?

i - W ..f___n-
2K UPEJ 6 Z45 A8 L o T s

Options :

Union Programme education

S
& .f:*il-"!f sl Y
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Upper primary education

5 18 F
o

g S ANy

2. %



University programme education

T s ¥
S [ b
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Universal primary education
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Question Number : 50 Question Id : 14558910343 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Jaya JayaPriyaBharathalanayitri...... Divyadhatri....” Who wrote this song?

- "
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VP g Qu s 513 PR e W
Options :

Dasaradhi

Devulapalli Krishna Sastry
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Mathematics

Section Id : 145589347
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 100
Section Marks : 100
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Is Section Default?: null

Question Number : 51 Question Id : 14558910344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The orthogonal trajectories of the family of parabolas x° = 4ay is
4 ' A h b g0 -
Do 7 o @383 DAl 3 gl p Uay

Options:



x2—2y2 o
1. %

y:-2x*=¢
2. #

x‘2+2y3 -
3. %

x*+y?=c¢
4, @

Question Number : 52 Question Id : 14558910345 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation j—l,}: +% =¢'

/.h r n o
d—’(f_;jt‘ \._/prM@/jJ il +EL:9H
elw A
Options:

y=e€'+c¢ e +g,



el

y=xe' +¢ e~

Question Number : 53 Question Id : 14558910346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (x =y )fi\’ +2ydy=0 is
, / - g
E d] (_{J.f L . ]_' L_/_)U/-J ( \\%-anjd n+ l“‘rdf:o
Options :

3 ;
X y+Xy' =c

1. %
3 2 2

X + =X
2.9 4

Poxt=cy?
3. ®

X+ x> =¢(x+y)
4, @

Question Number : 54 Question Id : 14558910347 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

An integrating factor of the differential equation xj} +y=3x*
u?/—ﬁ/_?,_l/l-/ u;_,L/.J/))q\d\-’ ‘*T %H

Options :

-

Question Number : 55 Question Id : 14558910348 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the equation (DF - D -5D-3)p=0, (where D = :;i) is
X

_ R b’b%m’im&)gm; ) 5 Lane

Options :



e woe :;?383*“"

(c, +¢,Je ™ +ce

(¢, +c,x)e™ - ce™

3. ¥

C']e_" + (e, +¢;x) e’

Question Number : 56 Question Id : 14558910349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation p’~5p+6=0 where p= j_y 18
x

¥ > c:% O EEY Poppiio Ly e &
Options:

(y+8x+c)y—-2x+c)=0
(y=3x+cly+5x+c)=0

(y+x+c)ly+2x+c)=0



(y=3x+c)y—2x+c¢)=0

4,

Question Number : 57 Question Id : 14558910350 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The particular integral of the differential equation (D-3D+2)y=cos3x where

4
D_als -,
*“r—b-‘iﬁn(-‘ﬂﬁ"} L/,:_Jf,(_/o(_f/_‘ﬂ-) (CDLPEE!-;#L)U:COS%
- ':D:.d- U(/«?'
AN b
Options :

Osin3x—7cos3x
130

Osin3x+ 7cos3x

2. & 32
—9sin3x-7cos3x
130
3.
7sin3x—-9cos3x
130
4, %

Question Number : 58 Question Id : 14558910351 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The general solution of the differential equation (x+ y)dx~dy)=dx +dy is

djd}'é L/C"rju(}/.’?(:ﬁ‘*ﬂ) (G[ﬁ—ol‘().:’d?‘.*dv

Options :

x+y+lﬂgjx+y‘:c

1. %

x—-y+loglx—y|=c
2. %

x—y-loglx—y|=c
3. %

x-y-loglx+yl=c
4. ¢

Question Number : 59 Question Id : 14558910352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An integrating factor of the differential equation (x'y-2xy")dv~(x' -3¢’ y)dy =0
is
— gjjl[)ﬂ{lr[/& [,LA(})_}.? ( 'f\{ ~2,717de?\— ('nln 3‘:71617:.9
Options :

1. =



Question Number : 60 Question Id : 14558910353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. An integrating factor of the differential equation (1+xy)ydx+(1- xy)xdy =0 is

d/")/‘:’éﬁ‘:’ hlusgg 37 4ny)gin+Cl-ny)a-dyzo

Options :




2x2)?
W
2
Xy
4. %

Question Number : 61 Question Id : 14558910354 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. The solution of the differential equation y o+ y=0 satisfying y(0)=1 and v(szz
: "3

s

n ~ 0
/JI \’(M:’)fd"?l'/_;')‘-—-‘g)i \fﬂ*?’ o
e Ly jake 7 YRR
Options :

y=2c08x+sinx

1. %

y=28InX—COSX
2. %

y=cosx—2sinx
3. %

YP=CcosXx+2sinx



Question Number : 62 Question Id : 14558910355 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The linear differential equation with constant coefficients obtained by converting
xzy“Jr,\gv'+’iv—E '
A2 ‘.f‘d’“’“/’""/-‘f‘y"J|J ’( "y -F'Zi L
! 2L o g 5 Ww’:LﬂJ,dC/;

Options :
a’zy
—+7y=2e
a7
1. ¢
d*y .,
-+y=
dt- LFE
2. ®
dzy
~+2y=7¢
dr- X 1E
3. %
dzy
——Ty=g"’
dat” Y
4, w

Question Number : 63 Question Id : 14558910356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



. Which one of the following is false?

d

(D stands for—) .

dx - . >

( )}Pd‘ip)i ‘ngfof#
R

Options :

|
Y= V=
TN f(D+a) i

l ov .2
7(D) T et

[I'.J.e-.rc) o

7 (]U) " =[f(D] ="

sin(ax +b) = —sin(ax+b), f(—a’) =0

S(DY) f(=a")

Question Number : 64 Question Id : 14558910357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, the differential equation that is not a Bernoulli’s equation is
£ A . n ] g oﬂ v djj

Options :



sec’y —+xtany=x°

dy

: dy :
X} 2 ki L1 U
(x e” +2y) P t+ye

Question Number : 65 Question Id : 14558910358 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1

. The differential equation ( Ve 4 6x)dr+ (e - 4y)dy=0 is

r & N L "
o — ol e J/sJ (\67?3.. 1 +67)d + C”“Tew““ﬁ’dzﬁ“
Options:

linear and homogeneous

(3o o0\ &



homogeneous and exact

non-homogeneous and non exact

C;‘J"Z"}/J" O/Wﬁ:‘;

non-homogeneous and exact

IS NIV

Question Number : 66 Question Id : 14558910359 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

y=cx—c’ is the general solution of the differential equation

ol de— e Jrusfy=on-c”

Options :
y=c
1. %
y =0
2. %



(¥ —xy'+y=0

(y)Y +xy'+y=0

Question Number : 67 Question Id : 14558910360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

-

The general solution of the differential equation x V.9 =0is

X

de e

AV G T o Y e
"E;\.— oA

Options :

¢ logx—x+c,

¢ logx+x+c,

cix—logx+c,

¢xlogx+c,

Question Number : 68 Question Id : 14558910361 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

5

A particular integral of the differential equation x° % LAY y=e"is

x
- . - P
WA:FZ’U?)M;EUUUV'J%+L{“%+W:E*

Options :

Question Number : 69 Question Id : 14558910362 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (p x-y)(py+x)=d’p, where

p::

& |&

18 L/:_P_JI L}g A (/)s ﬂ-lj)(},"(-f“):tpb
Jraf b= bled :
L, Peel, (..JLC\.?
A



Options :

y=cx’~a‘c(c+1)

},1 L CI.. c
c+1

¥y =cx—a’(c+1)

Y =ex? +a’c(c+1)

Question Number : 70 Question Id : 14558910363 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. ; , . dy dc x 0y .
The general solution of the differential equation —~-—="-= is
de dy y «x
oy rp D
7 ' U
d G—’EE“—JIJL«”G/JJ dz --f..!:.—-r- l
A ""7 ]
Options :

x?+y* =c¢ , c is arbitrary constant

- e "’ - v
d},‘\_j\wﬂ@j Lf_..nrh__,f1 cC -_n._lr\{:___.i



xy* =¢, ¢ is arbitrary constant

s dsonce) Lorl L) ¢ o nNY=c

x* —y? =¢, ¢ is arbitrary constant

i Jagaet/LEF1 6 €« M-y &
o LS -—

3. -

x> +xy+y* =c, ¢ is arbitrary constant

N R i

4. #

Question Number : 71 Question Id : 14558910364 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The direction cosines of the line joining the points (1,2,-3) and (2,-3,1) are

}/ﬁ},),l J‘l"’j:? = C 2,-3,1))0) Cvya,-2) 4 U—’
Options:

1,-5,4

3,—1,2



I -5 4
3. ¥

3 -1 2

J147 V14" 14
4, %

Question Number : 72 Question Id : 14558910365 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of the plane passing through the origin and containing the lines
whose direction ratios are proportional to ~1,2,2 and 2,3,-1 is

. #o o _ 4
-l 2,2 LL,J )?_:JJ‘JL"‘"G Gﬂd);wjﬂ:ﬁ',’mﬁ

o \ TN N T e
_mgﬁ@buﬂ;{ﬂﬂ& (_;\r/),/:bl-?\_ﬁmzaﬁ‘_ 3
Options :

Sx+3y+7z=0

1. %

3x-8y+7z=0
2. %

Tx-8y+3z=0
3. %

8x-3y+7z=0

4. &



Question Number : 73 Question Id : 14558910366 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle between the planes 2x—-y+z=1 and x+y+2z=3 is

T :i{{{): d’a’/) Mcg;w q.(-ur..pzé :3/)\ Zinﬁffg - ]

Options :

i
2

waf A

£y

o | ®

Question Number : 74 Question Id : 14558910367 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The centre of the circle X*+)* +2° =9, 2x+3y+22=9 is

/‘-f-""/“’/j-’)" 2 ntly42%cy '?‘\"ﬂ"—r?;:- 7



Options :

[18 27 IS]
7397

9 27 9
17734717

(4, 3, 1)

Question Number : 75 Question Id : 14558910368 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The condition for the plane [x+my+nz = p to touch the sphere x*+ ' +z' =a’, is

i o 92
L;J—Mfﬁlﬁm7+“;:f ";U‘}'I)/u_ﬁ} 2.1 N "'"“r\"t %‘; a”
by — W

Options :

p(P+m +n’)=a’



a (> +m’ +n*)=p’

P+m’+n* =a’p’

Question Number : 76 Question Id : 14558910369 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If (4,m,n) and (L,m,,n)are direction cosines of two lines and & is the angle

between them, then 1. [, +m.m, +n.n, = Z
s AR Claimomy 21 Lm0
R 2 AL A
Ap dy 4 Wiy Wiz
Options :
cosd

1. %

sin @

tan &



Question Number : 77 Question Id : 14558910370 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If a plane meets the coordinate axes X,Y,Z respectively at A,B,C such that the

centroid of the triangle ABC is the point (P,Q,R), then the equation of the plane is
: /
; n 4 Aoon r V)
o e o Dl 1y 2 b ol S 2 A b
n ' ;

o (P RY L s ¥t Sl o L
Ey — :J )y (s (3/ UW ‘:""'
Options :

Px+0Oy+Rz=3

Px+ Qv+ Rz=1

X ¥y Z

—...—r-—-—-—'—..—

g
P QO R

Question Number : 78 Question Id : 14558910371 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If the x-coordinate of a point P on the line joining the points (2,2,1) and (5,1,-2) is

4, then its y-coordinate and z-ordinates are respectively.

/A 1 o ¥ ' -"f,

4 (5‘,:,4/;’(2,1;:))@;0&,'4 4 P o
f‘\ﬂ P oy r iz Lﬂ.’-

o Bz prsey. ST

-

Options :

Question Number : 79 Question Id : 14558910372 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The image of the point (3,5,7) with respect to the plane 2x+ y+2=6 is

Sy il (3,67 A8 o D17 S 6 S M 42 b
Options :

(2,1, 1)

1. %

(_55 L 3)

2. ¥

{55 65 _8)

(1 4, 6)

Question Number : 80 Question Id : 14558910373 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

- The equation of the line passing through the point (-6, 4, 1)and perpendicular to
the plane 3x-2y+5z+8=0 s .
o) & u L d il = (<6 L
: g_,c&ﬁ ai),}/; ( gure? - +8%+gc0

Options :

1. %



-3 s 5

2. %
x+6_y—4 _z-l|
3 -2 5

3. ¢
x-6_y+4_z+6
5 2 3

4. %

Question Number : 81 Question Id : 14558910374 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The centre of the sphere (x+a)(x=a)+(y+b)y-b)+(z+c)z—¢)=0is
a— 0,77 ‘-"y" (AARY CN=0ULY +5)CY-b) +(3eC)(F-C)=0
Options :
(a, b, ¢)

1. %

(-a,—b,~c)

(0, 0, 0)

3. %



Question Number : 82 Question Id : 14558910375 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The equation of the cone with vertex at the origin and whose base curve is
xz-l-y1=4, -,

.téuf/,rh wo e PTG,
cdy Fzenay= Yy ol g

Options :

P+ yi=2?
1.+

x?+ y2 =2z
2. %

Question Number : 83 Question Id : 14558910376 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

The equation of the sphere through the circle x*+y*=a’, z=0 and the point

(xlﬂylﬂzl) / ’{,

o 3 04 J"—wdcf"’/”‘*‘{* FICI

) ﬁ}};
(.AJ

Options :

(X2 +y*+z2-a®)z,+(a*—x*-y>-2°)z=0

1.¢
L OO B 2 2 Y-
(x*+y“+z-—z )+(a"—x"—-y")z=0
2. %
(P +y*+z22-z)a* +(@*—x -y’ -77)z=0
3. %
2 +y +2z° —XX— Ny z+a =0
4. %

Question Number : 84 Question Id : 14558910377 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The length of the tangent drawn from the point (3.1,-1) to the sphere
x2+y2+zz-3x+5y+?:0 1S

= (3,04) 128 s y/’“h'*r‘f\'-f%thd‘j-r'?;o

.gwé%/ufl&i}d@f



Options :

3

1.9

10

14

3l

V1

Question Number : 85 Question Id : 14558910378 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the cone ax2+25y2+3£‘22+2.fvz+2gzx+2hry=“-0 has three mutually

perpendicular generators, then a+ 20+ 3¢ =

- #
W’ b2/ AN Uo\V 420y o Ly g 4 2 e dhenysd |
2 Ot2 b330 D -0 dppen £ G
Options :

3



Question Number : 86 Question Id : 14558910379 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If G is a group of order 48, then G cannot have a sub group of order

= om 5 / /.
),//tﬁpdm o — '%GTJ/‘/‘UU b‘—’/)ﬁktgjj\

. 4 R
0 ~
o l"cfﬁ/ C_/‘(‘f' “;’{,{ o
Options :

16

32

24

Question Number : 87 Question Id : 14558910380 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The order of the element 9 in the group (Z,,, +,,), Where 7, =7, —{0}, 1S
B o
/- T LA
w R o L/ﬂw‘? (_{f""_‘;"ﬂiﬂ CZ” r )
¥ »
24 TRy -{U}CJ(_;?

Options :

Question Number : 88 Question Id : 14558910381 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Inverse of the element 11 in the group (Z,., +,), where 7, =7, {O] Is

.~ Y
. &y —J)ﬁﬂl’;&;)/ C;‘m“s"';’/ij( 2::7/ *17)
zf,,-_%:{npb;?

Options :

Question Number : 89 Question Id : 14558910382 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let [x] denote the greatest integer function. If a function ffrom the group (R,+)to

the group (Z,+) is defined by f(x)=[x] forall xeR,then
u-l bt *‘“—r/J/JUdeLdUJJé (J’ﬂ(e"‘?f"] f’%ﬂd”/”

OL"’/W” ('Z-r)“—’:jd’(QTwﬂJd‘cL")
b LA | rf{H)-[’R?AF W’

-



Options :
fis a group homomorphism and ker f =[0,1]
2. /

/s a group homomorphism and ker f/ =[-1,0]

z /
L-10] Kevf Jslen 223 S/b oo f

fis not a group homomorphism

; E [
o (2t £

3.¢ —

fis an onto group homomorphism

: Na /|
e S lw Jelin 2 f

4. 3

i

Question Number : 90 Question Id : 14558910383 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of units in the ring (Z, ,+,,.,) 18
r ({ ) g/- )
df("——_)’m U_j;v ’quﬁj}(:\?ll,“ha,'”)
Options :

10
1. ¢



Question Number : 91 Question Id : 14558910384 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the number of elements of a set A is 5 then the number of binary operations that
can be defined on A is
yd gshless oo 5 )L»MPW«/A “’f‘“"ﬁ
L
- GdoWpn S

Options :

25



Question Number : 92 Question Id : 14558910385 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the group (Z ., +,,), the inverse of the element (14, «,,11) is

F A TN 4
;:J.,"Uj)aﬂb./yf(m*"'”) Uf“::"f,_ljﬁzw,ﬁ'iﬂ

Options :

14

~J|

Question Number : 93 Question Id : 14558910386 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



abcde]
d e c b al

The inverse of the permutation [ defined on the set

S={a,b.c.d,e} s
(a\ h ¢ de ,J)L‘vo

.,f_?uﬂ gt{ﬁrbrﬁdf!@{’(zﬂ v od € ¢ b&)
— U WOl Ll

Options :

Question Number : 94 Question Id : 14558910387 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A cyclic group among the following is
¢ b Y S
vty o LIS PO

Options :

4, XZ,

Question Number : 95 Question Id : 14558910388 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If Z; = Z,-{0}, then the solution of the equation X ¢, 5=6 in the group (Z), )

18

¥ 2N 4
INEROION RRE ISy
d-(' “&K:J J)L‘W‘?( 'y ?:?

Options:

1. %



£

sl

Question Number : 96 Question Id : 14558910389 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the permutation group (S;,0), (241683)0(537241)=
/4
- (241683)0(S3724!) c:f-wju) Al \Ss,o)

Options :
37456)0(182)

(152)0(37468)

(125 0(37648)



(35268)0(147)

Question Number : 97 Question Id : 14558910390 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of elements in the subgroup <6 > in the group (Z“\ +3,) is

, ) vy, ~ Y
)MG//p[,;C{Ag;y/Q}';{g} Q:d' =l (z2,%21)
s M, e

Options :

2l

Question Number : 98 Question Id : 14558910391 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the group (Z,+), if (12 Z)n(18Z)=nZ then n =
., V4
mz= (2 yaliezs 5\ oy (B +)
~
_ 7= A

Options :

6

36

216

Question Number : 99 Question Id : 14558910392 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let Z be the group of all integers under addition and A = {l,m,m"} be the group of

all cube roots of 1 under multiplication. Define a homomorphism f:7— 4 such
that f(n)=" for all n€7. Then the kemel f =

eyl 8 <o LS

s ____M A fﬁuwi) J‘
IR (ARl : /

Options :

Z

37

{0}

8Z

Question Number : 100 Question Id : 14558910393 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of generators of a cyclic group of order 45 is

o3 s 1120 48

Options :



14

24

18

12

Question Number : 101 Question Id : 14558910394 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the group (S5,0) , an even permutation among the following is
P . 2
PENIROWIFS Lo b 3205, 0)
Options :

[1234



i —
oo JU L
~1 W
Lh s
b Lh

Question Number : 102 Question Id : 14558910395 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
IfR is a Boolean ring as well as an integral domain, then the number of elements
inRis

[l St ool it R
e L i e B o G R

o & LG ol g

Options :

Infinite

Question Number : 103 Question Id : 14558910396 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



On the set of natural numbers N, the one that is not a binary operation among the

Options :
m*n = m+n-1 forallm,neN
’alf‘?nm & r?LE'

1. %

m¥*n = m’>+n’-4 forallm,neN

L admnen i

2..

m*n = m+n+8 forallm, neN

‘t,,.g.,zf"rnm&r{ (?[_‘3

m*n = mn+m-n forallm, nenN

y.’..-{'?ﬂ1héﬂ (l_;

Question Number : 104 Question Id : 14558910397 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



are two permutations

It f=(]23456Jandg:[]23456]

321546 451632

defined on the set S = {1.23,4,5,6] Jthen g0 f'=

23wl 23wy
Dibep 30 s P VIIE Y GO B o

™ 4 |
‘-.*"'(_J’r’i/zfQ!eZ/bﬂi/J % I lfw.s‘,s%s -
Fof .

Options :

1 2
5 6

1. %

W L
(ST N
—
SO

Question Number : 105 Question Id : 14558910398 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

' Among the following, the number that cannot be the characteristic of a field is
\ e ,
ﬁwﬂpméﬂ/ﬂi uiwﬁ e C'_w*c.}*‘)
- € - e - R B -
Options :

31

41

51

61

Question Number : 106 Question Id : 14558910399 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following, the one that is an integral domain but not a field is
w o) OLJ Tl J(S oS
-G 900 O e o g4
Options :

The set of all real numbers

L._i:f.-l-l-’ l/)'&ji.vjz;b’ (‘.;‘



The set of all rational numbers

—w Vons 1 S L L

2. %
The set of all integers
tow Vot EFX 1
3.¥
The set of all even integers
c_}ﬁf{/)f/t;[ @ﬂ@f (’Lfd
4. %

Question Number : 107 Question Id : 14558910400 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The number of non zero, zero divisors of the ring (Z,,9D,,0,) 1s
] n J ' ' / P ' /:le-(
VIS s ke syl ¢,8;. O )
Options :

0

-2



Question Number : 108 Question Id : 14558910401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the ring (Z,s,+,5:%5), (7 %5 9) + B # 11)=
L r o v Ll
O:p,hﬂfy(- 14’5!1*!5" ‘;SF)J(-?-IJ;q)rlhr[\'é”'.{'ﬁ-):

Options :

Question Number : 109 Question Id : 14558910402 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In the ring (Z,+,%), an ideal which is prime but not maximal is
vom ; ¥ ’ L ¥ )‘ -
U/'(}L"(_N ¢ )/aﬁjd".iffru;mgm('x,.h ) JJ
~ — -
— 7
Options :

47
97,

11Z

Question Number : 110 Question Id : 14558910403 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let f: (Zyt2) = (Zg,+4%)be the ring homomorphism defined by f(n)=r
where 0<r<7 and r is the remainder when » is divided by 8, Then the one that is

not a sub ring of kernel famong the following is
sl v e /
g kil Jy §(=0)48 3%)

C_',-.lr’- N )0 e ke (JL:_ jfcn):f

/o
o gt
T
__,g,_,.,..v (SJ_MJL_;/ ,,r::'i.%ﬁ/,&’r"")fn r{m a

T ) o S

Options :

42
1.

Question Number : 111 Question Id : 14558910404 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



) +1} is
o R {'@)ﬁ
, — \8/-‘)1 "".-;l-,"‘*l%

The limit of the sequence

Options :

0

1. %

Question Number : 112 Question Id : 14558910405 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following sequences, the unbounded sequence 1s
/ ’
- S o w¥ B
iy s i bl B gihE O -~ -

Options :

{-};/n:zl}



{{":n [ n> 1}

{(-1)";1/;::31}
3. ¢
{ = /HEI}
L+l
4. %

Question Number : 113 Question Id : 14558910406 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following is not true?

c e LIe e p s
Options :

Every convergent sequence is bounded.

I:Z"-t-'" JJ}; ::_";J {_",;m'/:

Every monotonic sequence bounded above is convergent.

A / el J___J__,/r
d_.r._.._z/[-“‘/:‘”-‘l‘-'u};"ﬂ J//-J’__ S



Every bounded sequence is convergent.

ol 2yosae s

Every Cauchy sequence is bounded.

~ -~ ,;..r...?'/
I - _)J_}-;J-JJJQJ-?L/I!

Question Number : 114 Question Id : 14558910407 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Among the following series, the divergent series is

8t oy
,d.,J#Jﬂ}ﬂ;Lﬂ--—-* o U~y .J.CE‘Z‘

Options :

= |

1. %
=, (_1);*;
n=l 1
2. #®
il
n=i 1
3. %



Question Number : 115 Question Id : 14558910408 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The function f(x)= +8in2x i< discontinuous at x =

1 =5in2x

g n e 8 J Oz I g

[ ~4imin

Options :

L)
2

| N

=3

Question Number : 116 Question Id : 14558910409 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



.The point ¢ of the Lagrange’s mean value theorem for the function f(x)=logx in

(Le) is

4 r

Options :

i ™

Question Number : 117 Question Id : 14558910410 Display Question Number : Yes Is Question

Mandatory

Time:0

: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



w N

2. %
¥
4

3. ®
2

4, % -

Question Number : 118 Question Id : 14558910411 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The sequence {—f’n} I} is
" i ke /—n e
? -{»
l-L_ MA N # ,/-.

Options :

bounded below by zero and not bounded above

-C}f»_‘.’uﬁ/;’ﬂ”/"”%;'fyd/yﬂ

bounded above by % and not bounded below

y.
L oaFE M ) DsaE 002 A
2



both bounded above and bounded below

DRSS O P ‘-:—.{-L-”/J!/;Jl

3. ¢
not bounded above and not bounded below
L1 " J l -
P S AP EYC ot dre
4, %

Question Number : 119 Question Id : 14558910412 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The function f:[-11]- & defined by f(x)=|y for xe[-1,1]1s

/j Y w T n
Sz (W) Gudb Lt £, 3SR e
: d_‘ — }(G[‘ff'j

Options :

continuous for all xe{R -0}

dﬁr_ﬁb" )gfl &'S(R-"ﬂ’t(ﬂt;"

differentiable at every x #0
~ " /
S s nxe 2l



differentiable only at x=0

T.’.’:/ﬁ/; A=@ s

discontinuous on [-1,1]

S 7 L-rr

Question Number : 120 Question Id : 14558910413 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

o
. The series Zx” is
n=l s

n ~ T
- RN
S
€ < |
Options:

converges forall x in R

R A G

1. %
converges for all |x| <1
~ e r
L) s A "}11‘ {*'KL‘J
2.4 " -—

diverges for all x in &

5 Lo 2070 (G g R



Converges to ¢* for any x>0

AR A P Rl

Question Number : 121 Question Id : 14558910414 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let f'be a bounded function defined on [4,b]. Then for any two partitions £} and

P, of [a.b]

[ms]df[.d,uﬁ-ﬂ’gfﬂ/ /"
l— [q,gj hAJ - _ngL5JfLM’l
e 21’&/;(/’, LJJJJ)CHM

Options :

L(R, /)< U(R. f)

L(R./)<L(A. 1)

2. #

U(R, <UR, )

3. #

LA, [)2U(R, 1)



Question Number : 122 Question Id : 14558910415 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I, if x is rational
Define fon [0.1] by f(,ﬂ:{ IR IR,

-1, if x is irrational

Then which one of the following is true?

s h ,//
AU )W T g (0] 3 5/'

—

N TR R O °-’"’““f‘ :

Options:

fis bounded but not Riemann integrable

.JMLU_NJ c)UMT 193¥ }

1.4

fis unbounded and not Riemann integrable

A r.‘?“('h@f’»’ S e sty S

fis bounded and Riemann integrable

ae L6 ez o f



f1s neither bounded nor Riemann integrable

Jﬁ oAU ) e st W of

Question Number : 123 Question Id : 14558910416 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

16" —4*
[ s
=i x

Options :

4
log, 2

2log,2

Question Number : 124 Question Id : 14558910417 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Let [x] denote the greatest integer function. Then the points of discontinuity of the

function f(x)=[x], xe R are /.
u;diu&wflw‘f‘“ ] ’}ydfg
u’f-JU.L dﬂﬂ/f Vg« (0= |

Options:

zero and one only

i

the set of integers

N |
Fd ; "
e fﬁ

even integers only

S w2

all real numbers which are not integers.

_ s ;é-_é“’).’)r/ﬂa]((;

Question Number : 125 Question Id : 14558910418 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



o

The series converges to »

ﬂt[.i"?(ﬁ'i—]]
e o Fame 413
- B nim-+l
e ! s~
Options :
]
1.4
1
2
2. #
R_If
6
3. %
2
4, %

Question Number : 126 Question Id : 14558910419 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
I i
g ; ; —. ifx 20 -
If f isdefinedon R by f(x)=11-¢" ,then f is
0.5 %= 4§

2
[ e Sl
7&“‘# 9] ﬂ:_”,/{! f“”f’L‘u/bu)’/d/2 "}f’)

o — f




Options :

continuous for all xe R

dJ}J_.{.uﬂ "éﬁf’xég (L«?

discontinuous at x=0 only

C)Jﬂméz,g N=0 _y ¢

continuous at x=0)

cJwr 3 A0

discontinuous for all x # 0

djﬂu;:'; A otz (&

Question Number : 127 Question Id : 14558910420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If f and g are differentiable functions defined on [a,5] and if f'(x)=g" (x) forall
x€la, b] then f-g is

oJu_.s Lw/«u/[ﬂ» ,
s_,"-—}'-a x_-:J 2 qe(a,g,](PLr Slw = rn)/x! />

R4 ‘J( /
1

Options :



a zero function

Je 3o

a constant function

&Lﬁdﬁ;ﬂ’wﬂi‘

2. ¥

a decreasing function
p !

BAGRIASZ

an increasing function

n " /
S G oy gt !

Question Number : 128 Question Id : 14558910421 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If imX22% -4 thenp=
x-+0 tan 3x

.-P _— Lim &‘;Y—]-—P*“LG/J/;

: N0 Yanim

Options :

6



2. ®

12
3. %

15
4. %

Question Number : 129 Question Id : 14558910422 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let f:[a,b] >R and g:[a,b] >R be defined by f(x) =-}1,- and g(x )—— for all

x€la,b], 0<a<b. Then the value of ¢ in Cauchy’s mean value theorem is

ol y,;)g [4575R )/ FALTARY »“f /;/
M'rCEM-‘J (e §n- i/;i,jfnl-

e W
u-"' o Ladh
PPER WJM.J, Inhos 3OS el

e —
Options :

ab
a+b

1. %



2ab
a+b

Question Number : 130 Question Id : 14558910423 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let /:R— R be defined by f(x)z{;'!‘”o.Then
10, if x=0
IR/ :
SHBOW wt [ 00RO
S v ’7L("7\): %"l-i\' ﬁqgf\
& 4 ’?l:"-i,f/t

Options:

f 1s continuous at x = ()

& (J_I)J_JJ-F hj( */j A= o



f is discontinuous at all irrationals

o, kst 5 45 ot G

fof is continuous only atx = 0

o, Jubor fof o Xm0 5P

3. #®

fof is continuous on X

4. v

Question Number : 131 Question Id : 14558910424 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If V is a finite dimensional vector space over the field F of dimension ‘n’, then

v op . | 5 ' " g
e Al G sV PR el s " Jl

-~
p— S

Options :
A subset of V with less than or equal to n elements is linearly independent.

o;-%tﬂﬁﬁf,[/ugmgf" Alsm 7 Q}_wbv
L



A subset of V with more than n elements is linearly dependent.

o Pl dz 0~ 0rk) o plpm ¥V

Any linearly dependent subset of V should contain *0° _
. : L ™ - Py / : /"
e bl oot Qo e Sk g gl B A

Any subset of V containing exactly n elements of V other than zero, is a basis

of V. 2
\_Jf' V o~y
;N/d_,,c‘h /"',.f U?"‘M (.r”

ﬁTu\Jwa(b/V 3?(0"’”"{//&

Question Number : 132 Question Id : 14558910425 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The dimension of the vector space V of all m x n matrices of real numbers over

the field of real numbers is

;’_;UUU‘) QJ_/.JLJ"W)KH /’UMJ;!A;IM
UML/-‘ )Lle.ZJ‘JLULf‘N"z

Options :



mn

m-+n+mn

Question Number : 133 Question Id : 14558910426 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If T:R° >R’ linear transformation defined by T(x,y,z)=(x,x+y) for all

(x,y,2)€R’, then the dimension of the kernel of T is

1

<

U’UU 2/}(.}”]37"3—- »Jlt*—feol?uur '23__;);2 A }
r.:iﬁ' Py e (6 Tenyg)e Opusg) ~ & W
— M b )Lflﬂjf.k&vaJ4z T “;L

Options :



Question Number : 134 Question Id : 14558910427 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If § is a linear subspace of the vector space V over the field F, then the false
statement among the following 1
e 3 % ‘ / s W r " ﬁ‘ Ow _nj:/
Ci.fﬁhuub;ajf{.)ww \«/; ,/,\
- Mool pgnd’s
Options :

N s
L(S)cS
L(L(S)=L(S)

S% L(S)

Question Number : 135 Question Id : 14558910428 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The set {(1,1,0),(1,0,1),(0,,1)} of vectors in the vector space R'R),

; . ,
-i(/,r,a),( r,m;);(o,r,:)?(_?uu L/LJSANC{“-‘L&/WR (ii

Options :
is a linearly independent set but not a basis

@ ! (P @ L ‘d%a‘}‘:‘f’
- e —

is a basis

Fa
o & )

2. ¥

is a linearly dependent set

o Lf_zwtz\tru(’—?

3. ®

does not span the space R'(R)

o Yees VRS (R > L

4. # =

Question Number : 136 Question Id : 14558910429 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The dimension of the vector space & over the field Q is

L — W ER Loy R O

Options :



finite

(_C‘E[ta.zb

infinite

(o Lo

Question Number : 137 Question Id : 14558910430 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If W, and W, are two vector subspaces of a vector space V such that dim /¥, =4,
dimW, =7 and dim(W,"V,)=2, then dim(W¥, +,) =
| 7
i ~nr r )) /:V(_:@) g H ;\W} ;/Ji
Pl e 2V e @2/ ) |
5 colin(w;y) pr! Aimbs]e SAoriy= 2 ‘*Zfbﬁ
= Al WyaWy)

Options :

11

1. %



Question Number : 138 Question Id : 14558910431 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If T:B - B is a linear transformation such that 7(1,0,0)=(4,1,0). 7(0,1,0)=(,2.1),

7(0,0.1)=(1,3,5); then for any (x.y.z)e X T(x,).2)=

~ i b o o8 1 7
7(@,0):(4»,).{’1)@”/- &) pr A TR

(.')H‘{,%’]é—&ﬁcﬂ@/ﬂc t._:J 7(0,(},}): Ul'lfs-)/’r(af frﬂ)f«{gﬂvrf}
| — s T 2

Options :

(4x+3y+z, x+y+3z, x+2y+352)

1. %

(4x+3y+2z, x+2y+3z, y+3z)
2.¢

(4x+y+2z, x+y+2z, x+52)
3. %



(x+3y+2z, dx+2y+3z, xty+3z)

Question Number : 139 Question Id : 14558910432 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Let TR - R? be a linear transformation defined by T(x.y)=(2x+3y.x-y) for all

(x, y}eIR?. Then the matrix of the linear transformation T with respect to the

standard basis B={(1,0),(0,1} of R is
' A P

G éi/j,n!AW/cJFJt WYL
e’ ) Ver® (G Ton) = ndy, Ay S K
ruburu)m‘“’w/fb_l/,mu;d_pqﬂd

O o ,,#J.J’?-L A= ﬁl.cq(a,n)}

Options :
2 =l
5]
1. %
[2 3]
L 1]
3 2
N



e

Question Number : 140 Question Id : 14558910433 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Let V be a vector space of dimension n over field F and let L(V.V) denote the

vector space of all linear operators from V to V. Then dim(L(V',V'))=e

L @epr e iz G215y oim i F O 5

S vy 2V ﬁuw“‘}fu‘b
f I il
€=

\"M(Ll\h )) "“"'u T -

Options:

2n

Question Number : 141 Question Id : 14558910434 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The rank of the linear transformation 7:R*' - R’ defined by T(x,y,z,t)=(x+z, y+1)
for all (x,y,z,t)eR" s
o
f' r
_,,)LM Uy R Al Jhoirt
“—r-—--ﬂff ("“‘1-%%\6&” &2 T (004, ¢) e (14, 146)

Options:

4

]

Question Number : 142 Question Id : 14558910435 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



[=5 0 7 4|
The rank of the matrix A={ 3 1 -2 ~l‘is
[ 2 3 2

t’“hgﬁjg"l:Ad_/;[ﬁ

‘d#_.__,_')/)k/ k Doy -2 -
J ' 1 2 %>

Options :

Question Number : 143 Question Id : 14558910436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If A isanon singular matrix over |8, then for any matrix B, (4"'BA)’ =

¥ 2 P g
@u/}uw(s‘”\-f”*/—;ﬂ%u“/bgt/w%m/1

-

gl A
JaA ) -é”

(A

Options :



A-GBQAB

A‘}B‘?A-Q
2. %

A'B’A

A B’A’
“

Question Number : 144 Question Id : 14558910437 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Aisa 10 x 12 matrix over the field K. If every submatrix of A with order 7x 7 1

singular, then

J/')U A/ﬂ :«Ujf 0&&/0“3

1" d_rﬂl:f;’/)%‘?ﬁ“

Options:

rank of A =7
q 2 pTp s CA

1.

rank of A> 7

Voo v 7 7 s 5K A



rank of A <7
pprr 7 2728 A

rank of A =
(4 5\ 10 TSV A

Question Number : 145 Question Id : 14558910438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let T:R*>R* be defined by T(x,y)=(x+2y, 3x+2y) for (xy)eR’ and
B={(1,0),(0,1)} be the standard basis of R°(R). Then the characteristic roots of the

matrix 7], are
Ulob 2 o) T2 KK It
o .
iy 5 = 2 TN < (1, sy e
- (e ‘“"‘%”JGFVM.Z

-

Options :



-4, 1

Question Number : 146 Question Id : 14558910439 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

10 5]
The characteristic equation of the matrix A={0 2 6 |is
| 4

-
3

Options :
AP+TA*-T4-28=0
1. %

A+TA*+T1+28=0

A=TA*-74+28=0
4

AP=TA*+74-28=0
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[n an inner product space V(F) for x,y € V(F) the parallelogram law is
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In an inner product space V(F), for any two vectors a and B , if |a|=5 and |4]=8,

then |<a, > cannot be equal to
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Caley-Hamilton theorem states that
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Every square matrix has a characteristic equation.
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Every square matrix has an inverse
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Every square matrix satisfies its characteristic equation
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Every non-singular matrix satisfies its characteristic equation
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Let V be an inner product space over = and x,y €V be such that the vectors x+y

and x—y are orthogonal. If |x|=5, then |y|=
/
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